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A) 1,2 &f
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A) SpH + ulig = St (Houig

B) ereor + gemleornedr =ereor 86 MHleormedr .
C) sou + Adlgy = suSldlg).
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1. 2_cueows@sTemsUN60 61606560t WIED.

2. 0rwsHs RuOwmduilcsr Yesr acdeSlerd HIED.

3. 8mOuWOIT_(HU ussoysOGTem&WNed IebedeTD WIED.
A) 1 o (Hid

B) 2 wi_{Ho

C) 3 wL_(Hid

D) Guihae Hlw ergeybdleocneo

46. Bpomanuncor SL_hisefled aicoeSleor GUoluSI (i) 6T(1p5Is.

08 S\ikis ol hedTeormatled GUMMhIES 6o UL 608 @&TesoTL ML UU([HISIDG).

A) 85 Slibisar medreormerfleo LML 6O UEDHTLY. 608 ©\&T6soTL ML UUHSIDG).
B) o0géSlituser mesteormelfleo Glumbiascols uesorig 608 Gl&TesorLm_UuHl&SInE).
C) emsSlitisar medreormerfleo GuMhigscol LesoTLg. & & 18T 6sorL ML UUHSID ).

D) o8& 8lihseir medteormeifleo @uMThig 6o LEsHTG 6088 ©\&TesoTLTL_UUHISIDE).

47. QU G)s.

1. SweoytiyesorigS- umLib + Gevemerr
2. @sedrmen- @uITEdT + @Lb

3. 5ifi& 6o -eumemLp + & 660

4. @& (H&60-GOID + Loevor

A) 4321

B) 2341

C) 4312
D) 3421

48. soumneorg) o181?

A) @Qupoow + Sesrub= Guiflesrud
B) Gasn) + &L= GsmgL il

C) swlp « Gués = 5OIpBUE &

D) eir - @&1q = er@&Iq

49. Bsi5051pgIs. CuohE* HI([H
A) Gub@ B
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B) Gumm(y
C) @uweorn(p)
D) Gweomm(h

50. OfS8 eT(RBIS.
STHSOIDIHT

A) o1ib + SOUD + BT

B) er+swblpmm

C) et +sdIpmI

D) erbgiblp tmm

51. Choose the correct statement from the following statements:

Statement 1: The buried city is Harappa.

Statement 2: The first historical evidence of Harappa has been published by
Charles Mason in his book.

Statement 3: Burnt bricks were found during the construction of the railway line
between Lahore and Cochin in 1856.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statements 1,2 are correct

D) All are correct

51. 8 1p&snab so Hmiselfled sflwneremnssd Csiimb0\s (H:

86D M) 1: |6 SHL|600TL_ [H&TLD DI,

sadm 2 aoriurelled (WPHd oeuTeNHm RSMID &rjcosv GuwET Hoorg HIeSleo
@oeveflull”_(Hleiremrmi.

so Ml 3: 1856 Gob consall - O&ETEFS L 55 D@ SeoLGw muiled uTeng DliemsHs CUT(IRG) &l L
@ &HISHECT HT6ooTIIUL_L_6OT.

A) se.mHmi 1w (Hid &l

B) s imy 2 1" (b &ifl

C) sambmi12wL_[Hib &

D) ®icmeor s gib &)

52. Which of the following statements of the members of the Constituent
Assembly of India are correct?

1. 292 - Provincial representatives, 93 - Nominated members of the princely
states

2. A person representing Baluchistan
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3. Three on behalf of the Chief Commissioners of the Provinces
A) 1,2 is correct

B) 1,3 only correct

C) 2,3 is correct

D) All are correct

52. S 1psevorL_eub mieT SpSu irflwedo Hlifewornu Femuulled 2 _oter 2_mitlerisefleor &iflwimet smey
orgI?

1.292 wrsnesr GirSlblSlser, 93 &858 Smsiseflesr Hlwwer 2 miGerisser

2. ugiFSlevgreotlest Fmitleo 6ol

3. DM BITE00T (P & 65T GOLD <, GHOTWIT&6iT FTT9le0 eLpeur

A)12100 Hid &

B)13 w1 (Hib &

C) 23wl Hio &

D) siemeor s gid &l

53. Choose the wrong one among the world's oldest civilizations:
i. Mesopotamian Civilization

ii. Harappan Civilisation

iii. Chinese Civilization

iv. Egyptian Civilization

A) i ionly wrong

B) ii only wrong

C) i and iii are only wrong

D) iii and iv are only wrong

53.2_c0&l6T OST6ST mLDILITGOT TS &hIs6iTl60 HeunmeTensd Goiih0\s®H):
1. Qw&EUBLmMdwT Br&TsD

ii. emrtun prsflso

iii. Feor Br&flebD

iv. e1&lNG) B &THID

A)iwl (Hidb seumy

B)iiw_(Hid s6umy

O)i,iii L {Hid seumy

Dyiii, iv 1" [Hib s6umy

54. Choose the correct statement from the following statements:
Statement 1: A constitution is a fundamental law that reflects that the
administration of a country is based on the basic principles of the Constitution.
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Statement 2: Democracy is the key to the progress of a country.
A) Only statement 1 is correct

B) Only statement 2 is correct

C) Both statements 1 and 2 are correct

D) None of these

54, B 1pasnab so Hmisatleo sflwnrerenssd Goiih0\s®H):

so.HMI 1 (H BHIL_1g.607 Hlfunsneorg HmFiucoemiSlesT SigqluemL O&T6T M s H6T FNibHEI
SicowhHGloTeng ereTuems UlrSlusSlsEGh DiquuenL. &L G  Sirflucosmwiiysd  FL b
6T6OTUSIT(GHLD.

s6rHMI 2: (I BITL_1q 65T (WP STBTHMSSlDEHTeoT 15 &Mt ssomTL_&l.

A) sa.phmi 1w (Hid &l

B) s imy 2 1" (b &ifl

C) sabmi12 Sresor(Hib &l

D) 8eubiHled ergieybleoemeo

55. Assertion (A) : John Marshall concluded that Harappa and Mohenjodaro were
different.

Reason (R) : The Harappan civilization.is the oldest of Harappa and Mohenjodaro.
A) A is correct and R is correct and R is the correct explanation of A.

B) A is true but R is not the correct explanation for A.

C) A is true but R is false

D) A is false but A is true

55. sampm (A) : emrour wHmID GLTENHERESTCIT @eucGaDTETEma TETMI (WPL9.6}&HE)
HSHOIT SRMEOT LOMT6S60.

smresord (R) @ enrdur wHmib Gwremneh&sTGrmelleo ULPGOLDIITGOT ] DIUIUT Hrsflsb.

A) A &#fl R b &fl , R eresrugy A ssneor aflwneor eSlerdsid <hL@b.

B) A &fl oeormed R ercsrugy A daneor sflwneor eflemésnd Dicoev.

C) A #fl e0mmed R seumy

D) A seumy <peormed R &l

56. Choose the wrong statement from the following statements:

Statement 1: Dr. Rajendra Prasad's Constituent Assembly had 11 sittings lasting
188 days.

Statement 2: Mookerjee and Krishnamachari were the vice-presidents of Dr.
Rajendra Prasad.

A) Only statement 1 is false

B) Only statement 2 is false

C) Both statements 1 and 2 are false

Follow Insta ID: @tnpscbooks Telegram ID: @tnpscbooks_official




[9tnpschooks TNPSC GROUP IV | VAO 9578985878 (L)

D) None of these

56. B pasTa)b o MHmisatled Haunrearensgd Csimn0\s (H:

sabm 1 Lr&LT mn@eibSlr VirsnsSleor SwHweovemwiiy bHlifeornw semulicsr sl L &H@smLii 1
DI 6Y&H6TTE 188 BITL_&6IT [hemL CUMDME.

saphm 2 L1&LT mm@eehSlr Slrensslh@ siomend sHomeoaunms Smbsoui (paiedl whHmib
&\(156Y9 cooTLom & &Fmifl <4, 6umi.

A) sa.Hmi 11" (Hib Heumy

B) sa.ibmy 2 01" (b H6um)

C) saimi1, 2 Sresor(Hid Heumy

D) 8ouhiHled ergieib &eoemeo

57. Choose the wrong one among the contemporary civilizations of the world
related to the Indus Valley Civilization:

1. Mesopotamian Civilization --- 3500 - 2000

2. Egyptian Civilization --- 3700 - 1700

3. Chinese Civilization --- 1700 - 1100

A) Only 1 is wrong

B) Only 2 is wrong

C) Only 3 is wrong

D) None of these

57. 8ibgy WOl Braflesg cor QFHILIYmOLW 2 codledr &F&T0EHE bHrsflsmsefleo
sapnorens CsibolsMH:

1. QwsuBLmdwnr prsfsn --- 3500 - 2000

2. er&l0g) mprsflen --- 3700 - 1700

3. &eor mn&sflasn --- 1700 - 1100

A) 1 v Hib Seumy

B) 2 wi_{Hid seumy

C) 3 w_(Hib> Heumy

D) Seubidleo ergiem|ibleoemeo

58. Statement 1: The Constitution of India was framed by the Constituent
Assembly of India constituted under the Cabinet Mission Scheme in 1950.
Statement 2: Dr. Sachchidananda Sinha is a senior member elected as the Pro-
tem President of the Constituent Assembly of India.

A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct
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D) Both statements 1 and 2 are false

58. sabm 1: 1950 @b 6001 (h) DiomindFTmEN HNFHISEG (R S L SSl6T S 2_Heumdssiur L
SihHlw SiwHweo Hlifeonw Femuwred SHHWw SrHweoemiy 2 (HAUTSSUIUL_L .

sapm 2: ShSw SwSfweo Hlifeonw seouilest Hharedls someoaunns GsihO\sHIGsIUL L
w5 2 MUlleori LIsLT s&8sneorbs Slesren.

A) sabhm 1 &fl, sabmy 2 seumy

B) sabm 1 seumy, sabhay 2 &

C) sabm 1,2 Sreor(lid &ifl

D) sapay 1,2 Sresorpid s6umy)

59. Choose the incorrect statement about Indus Valley Civilisation:

Statement 1: The Indus Valley Civilization is called the Bronze Age.

Statement 2: There were more than 1000 cities in the Indus Valley Civilisation.
A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct
D) Both statements 1 and 2 are false

59. 8libg) FOf Brsflsbd ubdliw se Hnisafled Seunterems s C&ib O H:

so. M) 1 bg FwG 6l Hrsfledomns a6t s 60 Hireolb 6165 SIGmITID.

go. M) 2: Hibg swO 66T BreflesdSleo HursHSHbhEb Gohul L H&THhSET &ITEoTiIUL L 6oT.
A) seHmy 181, e Hmy) 2 Houmy

B) ge.hmy 1 H6um), e Hmy 2 &ifl

C) saimi 12 SretorHid &ifl

D) se.ibm 12 Sresor (b Heumy

60. The Eighth Schedule of the Constitution of India relates-
A) Fundamental Rights

B) Official Indian Languages

C) Fundamental Duties

D) Laws beyond the jurisdiction of the courts

60. S Sr&HwcoemIGeST 6T L Teug Si”_L auememr GGTL[iLjemL wg)-
A) S1qUueoL 2_flemwsser

B) @i$lsnriy feu SibSw Guomplserr

C) ®iqUU6DL HL_6OLD&6IT

D) B Slwesrmriusefleor SiHlanm eurbllihH@ Soumbul_ L &1L hiseir
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61. Which of the following sites of Harappan civilization are not present in India?
A) Mohenjodaro and Harappa

B) Lothal and Kalibas

C) Banwali and Rupar

D) Surgodada and Dholavira

61. 81D &8 6T mI6T 6Th g anriiurn Brsifles serhiser &hGuns SibSwumeilco &coemneo?
A) @ureneh&sTeI b mib emraur

B) Boorrd 560 o mib smaflutiser

C) ueoreumedl b mub erpumi

D) &i@snaLm wibmib @smeomeSiym

62. What does the Tenth Schedule of the Constitution refer to?

A) Provisions relating to verification of certain clauses and regulations

B) Provisions relating to disqualification on grounds of self-defence

C) Provisions relating to administration and control of Scheduled Areas and
Scheduled Tribes

D) Provisions relating to the administration of tribal areas in the States of Assam,
Meghalaya, Tripura and Mizoram

62. ST HWeoemUNIST USSHTEUS DL GIGHGIT-6THEDGOT & MI&SIDE)?

A) oo FISHSHISH6IT IDHMID @@Iﬁl@@&)ﬂ)&@m &l_ﬂurrfrlllugj @& L_fumeot o:rgburr@assh

B) shasniiy Sig iuemL_ulled @S Bésb GemLfumest erbun(hseir

O ulwe uGSHser wHmID uligwed uphiGguerfler Hiicunsd wHoD &L Hourh
@gnLifuneot erum(hHaeir

D) @igmb, Gusreowr, Siflyrm whmib wWIG&mmb wmhleokisafleo ki@t uGSlsaflesr Hlieunsid

@gnLfureot erum(hHaeir

63. Match the following

1. Lothal - I.Sindhu

2. Calipas - ii.Sutlej

3. Rooper - iii.Ravi

4. Harappa - iv. Ghaghar

5. Mohenjodaro - V. Bogawa
A) 1-i, 2-ii, 3-iii, 4-iv, 5-v

B) 1-v 2-iv, 3-ii, 4-iii, 5-i

C) 1-iii, 2-iv, 3-v, 4-ii, 5-i

D) 1-iii, 2-iv, 3-i, 4-v, 5-ii

63. QUM (H5 F)5:
1. Goor g 60 -1.8bg
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2. &T6SlUMIG 6T -ii.&1"_6ogh

3. epUIUIT -iilgmeN

4, emytium -iv.esnsit

5. @wram@EHa&HTEIT -v.Guraeur

A)14, 24, 34ii, 4-1v, 5.v
B)1.v 2.iv, 31, 44ii, 51
C)14ii, 2-iv, 3-v, 44i, 51

D)1iii, 2-iv, 34, 4-v, 54i

64. Match the following

1. major Planet - i.Neptune

2. Planet with rings - ii. Uranus
3. Rolling planet - iii.Saturn

4. Cold planet - iv.Jupiter

A) 1-iii, 2-i, 3-iv, 4-ii

B) 1-iv 2-iii, 3-ii, 4-i

C) 1-i, 2-ii, 3-iii, 4-iv

D) 1-iii, 2-iv, 3-i, 4-ii

64. QU (55 G5!

1. @Qupi@ameir -1.@mBUIg Yy 65T
2. euememiuhIg emerm e Gamesor_ Gaimerr - ii. 1 Greorein

3.2 _(mpepb @smer -1ii.&eofl

4. goflihg Gamer -iv.eflwmpesr

A)14ii, 24, 3-v, 44i
B)1.iv 2iii, 3, 4
C)14, 24, 34ii, 4-iv

D)1iii, 2-iv, 34, 4-ii

65. Which fertile region was called the Garden of Sindh?
A) Harappan

B) Mohenjodaro

C) Punjab

D) Lahore

65. flibgiedesr GaM”_L b 6165 M) DeopdsUul_L @&pliure ugs 61g)?
A) emotiur
B) Guwreneyest@om
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C)uepant

D) oonga it

66. Choose the wrong pair:

1. Equatorial region - 1670 km/hr

2. 60° North pole - zero

3. Polar region - 855 km/h

A) Only 1 is wrong

B) 1,3 only wrong

C) 2,3 is wrong

D) All are wrong

66. s Gomewrenwsd CsiibHOs(®H:

1. BleopHi&CasTL_[HU uGSulleo - 1670 &Geom Br_Lif /wewofl
2. 60° eu_&@ WHmemeo cmsulled - &bl

3. sIpeu uGSlulleo - 855 &l@eomBL_L i /oewfl
A) 1 wi”_Hb Houmy

B) 1,3 wi”_({Hid seumy

C) 2,3 w_(Hib soum

D) Siemeorggib seumy

67. Select the four animals found on the Pashupati Mudra of Mohenjodaro:
A) Lion, Tiger, Hippopotamus, Elephant

B) Rhinoceros, Bull, Horse, Tiger

C) Lion, Deer, Buffalo, Cat

D) Elephant, Tiger, Rhinoceros, Buffalo

67. @QuranmeEresT@rmellesr u&susl WHSleomulled sSmeTUURHID HISTE — 65leorhE & emor
GCoiih 015 (H&s:

A) Amisib, 46Y), Biwimemeot, Wit emeot

B) snesor_mbdl(masib, siremer, @ Sleom, LeS)

C) Slibiss b, Lo 6T, 6T(HEOLD, L, 66T

D) wemeor, 169, &medor_mbl(H&LD, 6T(1H6mLD

68. When do the sun's rays fall perpendicular to the equator? (Equal days and
nights)

A) March 21 and September 23

B) March 23 and September 21

C) March 24 and September 21

D) March 22 and September 23
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68. gyflweofleir &SlTas6T Hloom(HlesGasm(Hl UGSt I&hIESSTE (R HIT_&6iT? (510 SI6)| Usd
[HITL_&56IT)

A) g 21whH b @&0Lburf 23

B) wmiié 23 wihmib @&dL_tbuii 21

C) & 24 whHmib @&UL_bulf 21

D) wmié 22 whmb @&t bui 23

69. On the topic of Harappan people and culture, choose the correct statement
from the following statement:

i. There were more than one group in the Indus Valley Civilisation.

ii. The Indus Valley was inhabited by various groups including farmers, cattle
herders, hunters and gatherers.

iii. There were more than five groups in the Indus Valley Civilisation.

A) iis correct

B) ii alone is correct

C) Only i and ii are correct

D) i and iii are correct

69. @DIUUT W&&@EHD, UsTUT(hHID 6reTD . Hemeollled &psscoL sammdled &flurcoromnss
G5ibO\5[H:

i. S g1 euafl prsiflessSleo et HlH @b DiSlsneoT @ (1R 6T S(Hibh6or.

ii. Sbg@evefGleo eMeusmilser, &meombonL  eueriti@umi, Gl eoLwn(H@euri, 2 cwrey
BeafuBuni, 2_drefl’_L ucb@oum & (1R&HH6T UMDHSI(HESIDMTEH6T.

iii. Sibg1@euefl HraflesSleo 66T HIHED HlsTeoT BHS) G (LRSHH6ET S(IHIHS6OT.

A)iwl Hid &l

B)ii wr_{Hid &

O)i,ii w1 @Hid &

D)i,iii wi_{Hiod &

70. Choose the wrong one among the so-called 'Inner Planets' or 'Terrestrial
Planets":

1. Mars

2. Mercury

3. Jupiter

4. Venus

5. Saturn

A) Only 1,3 are wrong

B) 2,4 only wrong

C) Only 3,5 are wrong
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D) Only 1,5 are wrong
70. 2 " yp Gamerser Scoeng Ul Hlai Gsmdrser eteorm Siempdssliuhid Gsmerserfleo
HUDNeTe05S Coih01sH:
1. @ F6eumi

2.& 601

3. eflwmpesr

4. @euoirerfl

5. &oofl

A)13 w1 (Hib Houmy

B)24 1" Hid s6umy
C)35wL_[Hid seum
D)15w1”(Hib Heumy

71. Choose the wrong statement from the following statements:
Statement 1: The word civilization is/derived from the Latin word civis.
Stataement 2: Civis means village.

A) Only statement 1 is false

B) Only statement 2 is false

C) Both statements 1 and 2 are false

D) None of these

71. B p&Man)b Fa HMIs6Tled HeummeTensgd Coih 015 (H:

so M) 1: Hr&Fl&D 6T60TM ouMis 08 Flefloiv 616dTm Eovd Slesr GIompl @&T606Sl6SI(1HHG) HSS).
s M) 2: Flefloiv 6T6dTUSH T GIUM(HOIT SITMDOID.

A) sa.hm) 101" (Hib Hoeumy

B) sermy 2 01" (Hid H6umy

C) saimi1, 2 Sresor(Hid Heumy

D) 8oubiHled ergieib &eoemeo

72. Choose the correct statement from the following statements:
Statement 1: Venus is the nearest planet to the Sun.

Statement 2: The Sun is so large that it can contain 1.3 m Earths.
A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct

D) Both statements 1 and 2 are false

72. Bpsnab sepmisefleo sflurearenssd CoibOswH:
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sapm 1: sflwsse s iSleo 2 oter Bamer GleueiTol.

saphm 2: gflwest 1.3 B yallsomer s6oré@E6T@or BL&&&86 191U aemnsuiled WlalGUugTED.
A) sapm 1 &fl, sabm 2 soum)

B) sapm 1 soumy, sapm 2 &

C) sabm 1,2 Srcorid &l

D) sabhoy 1,2 Sresorpid s6umy

73. Choose the wrong pair:
1. Dholavira - J.P.Joshi

2. Lothal — S.R.Rao

3. Sankhudaro - J.P.Joshi
A) Only 1 is wrong

B) Only 2 is wrong

C) Only 3 is wrong

D) None of these

73. H6uDNeoT &6memr ol G 1ih 015 (h):
1.Bsmooallm - ] P.Ceoredl

2.Boond g6 - SRurmes

3. &b1@&TE - |.P.Gened)

A) 1oL [Hib seumy

B)2w1”_{Hid 6y

C)3w1”_(Hib Heugy

D) 8oubiHled ergeybleoemeo

74. Choose the incorrect statement from the following statements:
Statement 1: Mercury is the second brightest object at night after the Moon.
Statement 2: Earth is also known as Blue Planet and Water Planet.

A) Only statement 1 is false

B) Only statement 2 is false

C) Both statements 1 and 2 are false

D) None of these

74. B1p&TEb Fa HMISGcd Heupneremnssd Coib0s®H):

sa.m) 1 Hleoelb@ Si([HSsuLgwns Sredled Slrsnawns @&flwb eSlesorGuM(mHeiT L& 6oT.
sor M) 2: HeodhBaeir ohHmb Hif&E&MeiT 6T65T MID Dietrp&&UIL([HID Gameir Ly Lbl.

A) se.Hmi 101" (Hb ey

B) s imy 2 1" (b H6uy
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O sabmi 1, 2 Suetor(Hib Heum)
D) 8euhiHled ergeyib &eoemeo

75. Statement 1: Like the Sun, hydrogen and helium gases are found on Jupiter.
Statement 2: India ranks third in the list of countries exploring Mars.

A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct

D) Both statements 1 and 2 are false

75. e hmy) 1 Fflwemeors Gunest@m emamI” Teesst wHMIb ebeSwb eumysser eSlwmpesr Gsratleo
S eooTUU(H&ledTmeoT.

saHml 2: Q&cucumiig Ganaflemeor prmuyb Br(Hssefled ul_LgweSleo ShS e esTmTeus SL_&Sled
2 _6iTong)l.

A) s Hmy 181, e Hm) 2 Houmy

B) se.bmy 1 H6um), e Hmy 2 &ifl

C) saimi 12 SresorHid &ifl

D) se.ibm 12 Sresor (b seumy

76. Which planets are called twin planets?
A) Mercury and Venus

B) Earth and Venus

C) Venus and Jupiter

D) Earth and Jupiter

76. SIL_oo0L_8 B&HMoT&H6T 6T60T Siempd&UIU(HID BaHmeTsH6lT 6157
A) ys et whHmib @eveirerl

B) 181 b mitb Gleveireifl

C) @eueireifl b mutd eSwmpesr

D)y, 10 b mib eShwmpesr

77. Choose the correct statement from the following statements:

Statement 1: The Solar System is located in the galaxy.

Statement 2: The explosion of the universe is an event that gave rise to countless
stars and celestial bodies.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Both statements 1 and 2 are correct

D) None of these

77. Bp&nam)b sa Hmisofled Fflurcrenss Gsiih01s®H:
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s HMI 1 Fiflw & [HIbULD 65l6torBedT SIDET LOEOTL 6055160 SIGHLDIHGIOTOT Gl.

so M 2: cTevoTemlooL_rhissm 6SlesorBedTsEHbD eumedr GUTHL_&EHD GHTGTH STTEDIIGT 6(1H
Hlespe| GuresorL (b Gleuig (.

A) se.Hm) 1w (Hib &

B) e imy 2 1" (Hid &ifl

C) sobm) 12 Sresor(Hid &

D) 8eubiHled ergye|bleoemeo

78. Gases found in the Sun:
1. Hydrogen

2. Helium

3. Nitrogen

4. Oxygen

A) 1,2 is correct

B) 1,3 only wrong

C) 2,4 is correct

D) All are correct

78. gy flieoflod smesoTiu(HIb QIMLE ST
1. cORDL"_TeR65T

2. eubeSlub

3. 6mIbL_TeR6s6T

4, N6 8607

A) 12 Hib &

B) 13 w1”_(Hib Heumy

C) 241 [Hid &

D) siemeor s g &l

79. To select the wrong pair:

1. The nearest planet to the Sun - Mercury
2. Biosphere - Earth

3. Hottest planet - Mars

A) Only 1 is wrong

B) Only 2 is wrong

C) Only 3 is wrong

D) None of these

79. DN GOT E6m6mr oIS BoiiTh 08 (h&6:
1. &, Twss)Id @& DimHSled 2_drer @smeir - g edr
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2.2 WSli&@asmormibd - Ly 1]

3. @autiuwreor @smer - & 6)6uml
A)1oL_[Hib seumy

B) 2w {Hid seugy

C)3wL_(Hib Heumy

D) 8eubiHled ergeybleoemeo

80. Choose the wrong option from the following statements:

Statement 1: Charles Mason was the first to describe the ruins of Harappan in
his book.

Statement 2: John Marshall was a soldier and researcher who worked for the
East India Company.

Statement 3: The railway line from Lahore to Karachi was laid in the year 1856.
A) Only statements 2,3 are correct

B) Only statements 1,2 are correct

C) Only statements 1,3 are correct

D) All are correct

80. B p&TER)Ib & HMIs6Tled HoumneTensd Coiib0lsH):

o bm 1 eorur HEISSH T SHVUT(HismoT (PHGT (WP&H6Sle &6t HITedleo alleuflsseul Fmicvsiv
Guwaor.

saphm 2 Hps® SHSWw sb6uciufles uaflyflibs usoL ofmi wHmb prmisSwneri eomesr
LDITT62960.

g M) 3: conge fleo SHibGI SIMIES @ TUI6O UTENG DI ESUIUL_L H,600T () 1856.

A) sabmi 23wl [Hib &

B) oy 12 wL_Hid &

C) saimi13 w1 [Hib &l

D) siemeor s g &l

81. What are the salient features of the Indian Constitution correct?

1. Universal adult suffrage was introduced and the franchise was granted to all
citizens of the age of 18 years without any discrimination.

2. Provides dual citizenship.

3. Special provisions provide for concessions to minorities only.

A) 1,3 is correct

B) 1 is correct

C) 2,3 is correct

D) All are correct

81 8hSlw Sirflweoemiyd &L GSlesr Amiy so Mi&6iT 6T6mey &flwmeor cmoeu?
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1. 2 _cosemmediu euwg aub@sMi and@flemwenw N(WPSIUHSSWESTEH 18 euug Hlrbllw
G\9DE ST SIHOTRI(HEHG D 6THS 65 UTEGUM(HItb 6T M) s @& Ifl e eI AIPTHIE S S.

2. 8’_eoL @ LqWflememiu euphiGHSImg).

3. flmumest emulleoT (586G WL (Hib FUY 6N151&6IT eLP6DLD &FEYICHSH ST QILIHIS e CIFILSIDS).
A)13 01" (Hib &

B) 1o (Hiod &

C)23 w1 (Hib &

D) siemeor s g &l

82. Where is Mehrgarh located?

1. Pakistan, Baluchistan, Bolan River Valley
2. Thailand, Jihako, Chamaraj Valley

3. Pakistan, Siris, Fargo Valley

A) 1 is correct

B) 1,3 only correct

C) 2 is correct

D) 2,3 only correct

82. G amii&IT 6T60TM &L_ID 6T1hIE) 2_6iTomg)?

1. un&leogmesTt, uepld FlevsmedT, BUTELET BLH M) UETATSH SHTE G 2. HMicon bl dlamns@si, sTbrmed
UeiTeIT & 8118 &

3.un&leognedr, smeiTo, UTTG&IT ueToT & 5T G

A) 1oL Hid &

B)13 w1 (Hib &

C)2w1”_Hib &f

D)23 w1 Hid &

83. Choose the incorrect statement from the following statements:

Statement 1: Venus rotates from east to west.

Statement 2: On June 21, the Sun's rays will fall vertically on the Tropic of
Cancer.

Statement 3: Mars has rings.

A) Only statements 2,3 are correct

B) Only statements 1,2 are correct

C) Only statements 1,3 are correct

D) All are correct

83. B 1pasnab s6 Hmisatled Heumnerems s CsibOs (H:
s M) 1: Glaueitafl @smoir Slipd &Hleo SpHS Guhans &bmISIDE).
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sorHMI 2: 27T 21 1D HIETET M) HL_& Cromsuiled &, fl &SI C\&FhIESHTE 69(1gMb.
g6 M) 3: Q&6 G&IT(6THE @) OUEHETILHIGET 26007 ().

A) sabm 23wl [Hib &

B) sa.imy 1.2 wo1”_([Hib &l

C) sabmy 13 wL”_{Hid &

D) siemeors g &l

84. Choose the wrong statement from the following statements:

Statement 1: The distance between two celestial bodies is measured in light
years.

Statement 2: Mars is the center of the Solar System.

A) Only statement 1 is false

B) Only statement 2 is false

C) Both statements 1 and 2 are false

D) None of these

84. B pasna)b so MHMIs6tled Heunnerensd CsimH0Is(H:

so.Hm 1 S[H UTGSTOUNIHL_&5EHHEG SeoLUSleonar O5Tme0emH6 DioTéHs 2 S| Di6aTe] ol
<6807 (h) <G 1D

so.HMI 2: g lflu & HIDUSS6T GIIWID GI&F GeuTIL.

A) sa.Hmi 101" (Hib Hoeumy

B) sermy 2 01" (b H6umy

C) sami 1,2 Srevor(Hid Heumy

D) 8oubiHled ergieib &eoemeo

85. Choose the correct statement from the following statements:

Statement 1: The line on the surface of the earth dividing the visible and the
invisible part is called the luminous circle.

Statement 2: During the solar proximity, the Earth will be farthest from the Sun.
A) Only statement 1 is correct

B) Only statement 2 is correct

C) Both statements 1 and 2 are correct

D) None of these

85. B panayb s Hmisatleo sflwnrerenssd Goibh0\s®H):

sabm 1 yeSlullesr Guhurillesr Bgy eflu@id uGSlemwyb efluLrs uGSlemwwd GIfléEn
Gamig H@& oflie) e’ L b er6sr M) Guw.

s HM 2: & flw Sievoreow Hlaspedlesr Gug yesl &, flwics)s @ WlsS CGTemeveiled &HTerTiIU(HID.

A) sahmi 1w (Hid &l
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B) e imy 21" (Hid &ifl
C) sabmi 1, 2 Sretor(Hib &if)
D) 8euhiHled ergueib &eoemeo

86. Choose the correct salient features of the Constitution of India:

1. It establishes a parliamentary system not only in the central government but
also in the states.

2. It makes India a secular country.

3. Provides an independent judiciary.

A) Only statements 2,3 are correct

B) Only statements 1,2 are correct

C) Only statements 1,3 are correct

D) All are correct

86. ShHS Sirflweoemotyd &1L GSlesr Amiy se misefled sflwneoremns Csib 0 (H:

1. 105 S6b o1 (HiLocdeoroed whlevrkis6flepid HITL_TEHLOGSTD (Y mmemil BHmh mieNl&SIng).
2. &hSlumemey Fw EMTUDHD HILTEHGHSDG).

3. &i5bhSlnoner H515 g emmemiu QIkIEGSIDS.

A) sabmi 23wl [Hid &

B) sa.bmi12 wr_Hid &1

C) saimi13 w1 [Hib &l

D) siemeor s g &l

87. Statement 1: The period in which people used objects made of bronze is
called the Bronze Age.

Statement 2: The special feature of Indus Valley Civilization was planned town
planning.

A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct

D) Both statements 1 and 2 are false

87.86. DM 1: D& 6T O1RICHT 856085 SHIT60 1, 60T @UIT(IHL_8 606 UWGTU(HSSIL STevLD 01626501860 &T6OLD
61601 SHIGmmiD.

sa.Hm 2: Flib g Gevuefl BrsiflesSlesr AnUubabd S LB L h&T Siemwiy @ h.

A) se Hmy 181, e Hmy 2 Heumy

B) ser.hmy 1 H6umy, 6 Hmy 2 &ifl

C) saimi12 Sresor(Hib &ifl

D) se.ibm 12 Sresor (b Heumy
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88. Choose the correct statement from the following statements:

Statement 1: Archaeologists use radar equipment to study the underground.
Statement 2: The magnetic field scanner can detect whether the remains are
buried or not.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Both statements 1 and 2 are correct

D) None of these

88. B pana)b so Hmisatled sflwunreenssd Goiih0\s®H):

sapm 1 Osmeocdlweoneriser  Hleossgemw e sw  Grumi  sypellemw
UW6STU (& 8181 65T M 6oTTT.

sabm 2 TehFW @HTOOUTIHL &6 Yoos () SHeSIGTDHEToT E606meoll 6TRTUHS
&HHUILI60 6U(IHL UIN6ST eLpevLDd MW (Lg ujib.

A) sa.phmi 1w (Hid &l

B) s imy 2 1" (b &ifl

C) sami1, 2 Srevor(Hio &if

D) 8oubiHled ergieib &eoemeo

89. Choose the wrong one among the special features of the Constitution of India:
1. It is the longest of all written constitutions in the world.

2. It is flexible.

3. Most of its ideas are derived from the political systems of different countries.
A) Only 1 is wrong

B) Only 2 is wrong

C) Only 3 is wrong

D) None of these

89. S Sirflwevemotiy &1L GSleor Aoy do miseifleo Heumneremngd Csiih0\s (H):

1.2_60&l6d 2_6iTar 6T(IRSUILL_L Di6nr6or 8 T SFlcoemioliLjsemer 65lL_aib la Hermiomeor 5.

2. RSP H65T6m OBTEITTL_ BT 2_6T6T ).

3. &6 GupbuTcdTeT &(HSGIHST UdBam BI(Hsafledr SmHicd Dcmwiyseflco SmHs)
OuUDUIUL_L_6m6).

A) 1oL [Hib seumy

B) 2w [Hib s6umy

C) 3w (Hib Heumy

D) 8eubHleo ergyeybleosmneo
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90. Choose the right pair:

1. The Constitution of India was adopted on 26 November 1949.
2. The Constitution of India came into force on January 26, 1949.
A) 1 is correct

B) 2 only correct

C) Both 1 and 2 are correct

D) None of these

90. &flwireor Semereni G&iH O (H:

1. ShSIWw SirHweoemlienu eI hmid @&TeTerIUL_L [BIT6T -1949 Heubul 26

2. 8hSw Sirflweoemoliys FL_L b [hemL (Pemmé@E b BT6T - 1949 seeoreulf] 26
A) 1oL Hid &

B) 21" [Hib &fl

C) 12 @resor (o &ifl

D) 8eubiHled ergyeybleocmeo

91. Statement 1: Jupiter is the planet with the most satellites.

Statement 2: Aryabhatta was the first Indian spacecraft to be sent to the moon.
A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct

D) Both statements 1 and 2 are false

9. 8e DM 1: D15)& §lemewrdBamorscmer Osmesor Gasmeir eSlmp6sT.

s HM 2: Hleoalh@ Sisotiutu’_ L (p&6o SibSHiu 6fletorseod <y flwul L.
A) seHmy 181, e Hmy) 2 Heumy

B) ge.hmy 1 H6um), e Hmy 2 &ifl

C) saimi 12 SresorHid &ifl

D) se.ibm 12 Sresor (b seumy

92. Who is correct of the following statements?

1. Chairman of the Drafting Committee of the Constitution of India. The
Constitution of India was framed under his leadership.

2. He is known as the Father of Indian Constitution.

A) Jawaharlal Nehru

B) Ambedkar

C) Sachchidananda Sinha

D) Rajendra Prasad

92, g@&il‘l‘@]ﬁ) &6 H M8 (61H & @ U (15 S SO GoT GUIT WIT?
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1 8hSlw Sirflwcosmliyg &L b QIeoIe|dbd (R Semeval. Saufler semeoemwuiles S ShHiw
SirSHweoemlIyg &L b 2 _(HoumdsUuL_L g.

2. 85U SrFiwco NIt Hihems 6T60T M) HEMP&&UIL(HUGI.

A) speussiieoneo Gb(p

B) @ubBus ai

C) #68sncorihs HAcdran

D) on@eaib Sl Slren s

93. Assertion (A) : Indian Space Research Organisation (ISRO) launched a
Mangalyaan battery on 24.09.2014 to study the atmosphere and floor of Mars.
Reason (R) : India is ranked fourth in the list of countries to explore Mars after
Russia's Space Research Organization, NASA and European Space Agency.

A) A is correct and R is correct and R is the correct explanation of A.

B) A is true but R is not the correct explanation for A.

C) A is true but R is false

D) A is false but A is true

93. sabhm (A) : @bSw eflesorGevefl omiss Himieuesrd G&cueumiy Gamefleor eueiflioesorL_cotb
wHmId SeoriuGSoow prmieushsens 24.09.2014 st whGETWTST  6reTUIL(HID
N BoTH60S5 608 AHTTIIG).

snreond (R) : &seormeo S Gasueumis @smeflemest <pmmuyb Bir(Hlaeflesr ul g weSleo meigwi
oflesor@eefl wrmies Hmieucord, mrem, eGrmutiw efleor@evefl HrmibsEs HlmeuersSbeE
SI([HH5TEH BITHTD &SL_GSHlod 2 oiTerg).

A) A &#fl R b &fl , R eresrugy A ssneor aflwnest eflerdasid <L@Lb.

B) A &fl oeormed R erestugy A &sneor sflwneor eflorésid Dicoeo.

C) A &fl peorme0 R seumy

D) A seumy <peormed R &l

94. Which book says that ancient Tamils knew about the Sun and other planets?
A) Perumpanatrupadai

B) Minor Panarruppadai

C) Purananuru

D) Tolkappiyam

94. uesor LW Hdlpiiser & flwest whHmib Yin Camersemer ubhl SDHSI(HHS6TIT 6TETUS) Sor MD
IHIT60 6T8)?

A) Qupburesorh mIiuemL

B) & gyuresormh mytiuemL
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C) ummrgymm
D) @sreosntnGuwib

95. Phoebus and Deemus are satellites of which planet?
1. Mercury

2. Venus

3. Earth

4. Mars

A) 1 only

B) 2,3 only

C) 4 only

D)A&C

95. »@urueiv HMID Lewev ooy Sresor (HIb 6T Bamofledr &lemeursGaHMETEHoT <, @ED?
1. Y& 601

2. @ovoirerfl

3.yefl

4. @Q&6i6umi

A)1or_Hib

B) 23w {Hid

C)4wr"_{Hib

D)As&C

96. Match the following

1. Mercury - i.Roman primordial god

2. Venus - ii. Roman War God

3. Mars - III. The Roman god of love and weeping
4. Jupiter - iv.Messenger of the Roman gods

A) 1-iii, 2-i, 3-iv, 4-ii

B) 1-iv 2-iii, 3-ii, 4-i

C) 1-i, 2-ii, 3-iii, 4-iv

D) 1-iii, 2-iv, 3-i, 4-ii

96. UM (155 G)15:

1.ys6dr - 1.8rmomesflu (L & 66T 6mID LG 6iT

2, @eueitelfl - ii.Grmomeofl Guii s &L_ay6ir

3. @& I - iii. DI65TL Di(1608 oW & M@ D Grmoreofiu &L_oyeir
4. efhwmpedr - iv.@amonefiw &L_aersaflesT ggiout

A)1iii, 24, 31v, 44i
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B)1.iv 2iii, 3, 41
C)14, 24, 34ii, 4-iv

D)1iii, 2-iv, 34, 4-ii

97. Choose the wrong pair:
1. Hydrosphere

2. Lithosphere

3. Atmosphere

A) Only 1,2 are wrong

B) 1,3 only wrong

C) Only 3 is wrong

D) None of these

97. Heueor &emeoor G GHih 015 (h):
1.uremmé Gamermid - Hydrosphere
2.Bi&@smarid - Lithosphere

3. aueflipedor_oold - Atmosphere

A) 1210 Hib Hougy

B)13 w1 (Hib Heumy

C)3w1”_(Hid Heugy

D) 8eubiHled ergeybleoemeo

98. Choose the correct statement from the following statements:

Statement 1: The Mannar Biosphere Reserve is located in the Indian Ocean
covering an area of 10,500 sq km.

Statement 2: The vertical rays of the Sun fall on the Tropic of Capricorn on
December 21.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statements 1,2 are correct

D) All are correct

98. B 1panayb o Hmisatleo sflwnrerenssd Goiib0\%®H):

sabhm 1 wereormi 2 ullisGasmerts @uLI_ L &b ShSw GuphisL 6560 10,500 sgir Sl@eom B L i
urtiue 65160 SIGHLDIH GI6T oI &).

sabmI 2: gy flwestlesr QFhIG S8 HSHliaH6T ar Grenasullssr Bg) e9(gLb BT 1q FDUT 21

A) sahmi 1w (Hid &l

B) sa.bhmy 2 w1 (Hid &ifl

C) sabmi12wL_[Hib &l

D) siemeor s g &ifl
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99. Choose the wrong statement from the following statements:
Statement 1: Uranus was discovered in 1785 by William Herschel.
Statement 2: Uranus appears green due to the presence of methane gas.
A) Only statement 1 is false

B) Only statement 2 is false

C) Both statements 1 and 2 are false

D) None of these

99. &psnamb sebHmisatled Heuprearenssd Csibh0%MH:

gamhm 1: 1785 o pesor(h) wBreoreiv Barmeir, efleoeSubd @@Micg6d 616D hiSHlGeowimmed
&6oor (MYl SHSIUL_L g

samm 2: yGrerev Bamefleo BHBH6T aumy 2 eirersned useme Hmwnes CHTesT MISIMG).

A) sabmy 1 w Hib Seumy

B) sapmy 2 wl_{Hid Houmy

C) sambm 1, 2 Sreor(hlid Houm

D) 8eubdleo ergiob &eocneo

100. How many of the following pairs are correct? (Satellites)

1. Mercury - 0
2. Jupiter - 62
3. Venus - 0
A) 1 pair

B) 2 Connect
C) 3 pairs

D) None of these

100. ST GBoTUGHT D MICO 6T 8 60T a6l FfLTes 2_oiTor g)? (8160 6sor & GasmeiT &)
1.4y&60T - 0

2. eflwmpedr - 62

3. @oueirarfl -0

A)1 866001

B) 2 &m0

C) 3 8 omeor

D) 8oubiHled ergieybleosmeo

101. Choose the correct statement about Indus Valley Civilisation:
1. It has the largest area among the four oldest cities.

2. The world's first planned city.

3. The sense of cleanliness and hygiene lagged behind.
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A) 1,2 is correct
B) 1,3 only correct
C) 1 is correct

D) 2 is correct

101. Aibg@euefl Brsifsn ubdliw sa Hnisafles sflwreTenssd Gsiih0\s®H):
1. UL GOLDILITGOT [HIT6OT @) & ThIs6ifl6o Gl uTTueT e C\&TToTL_G).

2.2 _608l6dr (PGH6o SI”_ L OIL_UUL”_L B&TONGLD.

3.85 5D HMID &&THTID UHMHIW 2_eTiey Sl6T SIS S(HHSS.
A)12100° Hib &

B)13 w1_(Hid &

OC) 1oL Hid &

D)2wi” Hid &fl

102. Choose the correct reason for the destruction of Harappan civilisation:
1. Environmental change and invasion

2. Natural Calamities and Climate Change

3. Deforestation and Epidemic Attacks

A) 1,2 is correct

B) 1,3 only correct

C) 1 is correct

D) All are correct

102. anruiun Brsiflesb s srreorhisefleo sflunerems s Csib0\s (H:
1. 8D MI& L6 M HMID W HMID UemL GO

2. Swihems FHhISET WhHMIb Sreviblemeo ThHmID

3. &[T AIG6o whHmIb @&THL GCHmi &dE 560

A)12100 Hid &

B)13 w1 (Hib &

C)1oL_Hid &)

D) siemeorsgid &l

103. Which country has the rivers Cauvery, Vala and Porunai?
A) Sri Lanka

B) Pakistan

C) India

D) Afghanistan

103. srelilifl eumeor WHmID @UIT(HEDEOT <, S <, MGG 2_6iTer [BiT(H) 6T8) ?
A) Soorhicns
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B) un&letosmesr
O @pshun
D) @ptisneoflsiogmesr

104. Choose the correct statement from the following statements:

STATEMENT 1: Copper was the first metal discovered and used by humans.
STATEMENT 2: Mohenjo-Daro is the place where a small bronze statue of a
dancing woman was found.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statements 1,2 are correct

D) All are correct

104. & p&sTEb so HMmisefleo sflwneremnss Coimh0\s[H:

sadm 1 weflsisenTTed (WHST (WPHSl Hevor(Hllg&stul L whmib 2 uGwrsluhHiSSUur L
2_Beonasid G&IbY.

oM 2: [HLGOTONG) 6TATMD O1eU6ToT 85605 S0 B,60r Fllw GluesTHlemed &avor (Hldlg S&sUu L &L b
@wremeh&sTeT.

A) sa.phmi 1w (Hid &l

B) s ibmy 2 1" (b &ifl

C) sambmi12wL_[Hib &

D) siemeorsgid &l

105. How many wrong pairs are there among the following?
1. Harappa-Sindh, Pakistan

2. Mohenjodaro - Gujarat, India

3. Lothal - Gujarat, India

A) 1 pair

B) 2 pairs

C) 3 pairs

D) None of these

105. &G Q&M (H&&UUL_(HoiTer emasalfled &6uMiTeoT &60600T86IT 6T 8 6oT?
1. anrour - Aibg), ur&lerogmedr

2. @QwreanEhFSTOIT - @sund, SbSwm

3.Goong,560 - Ge2nmd, SHSwm

A)1 S o600

B) 2 860

C) 3 8 cmevor
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D) 8eubiHled ergye|bleocmeo

106. Match the following Boundaries of Indus Valley Civilization:
1. West - [.Hardugai

2. North - ii. Pakistan

3. East - iii. Daimabad

4. South - iv.Alamgirpur

A) 1-iii, 2-i, 3-iv, 4-ii

B) 1-iv 2-iii, 3-ii, 4-i

C) 1-i, 2-ii, 3-iii, 4-iv

D) 1-ii, 2-i, 3-iv, 4-iii

106. QU (H5 8186 Abgeuefl Brafleshisefler eTeoemevser:
1. Bwh @ - ieni(hens

2. 60U 6@ - ilLun&levgmesr

3.8lp& @ - iil.emLrurg

4.QBHE) - iv. ool ST IF

A)1ii, 24, 3-iv, 4-i

B)tiv 24iii, 3-ii, 4-1

C) 14, 2i, 3-ii, 4-iv

D)1ii, 24, 3v, 44ii

107. Choose the correct statement from the following statements:

Statement 1: Indus Valley Civilization spread over Gujarat, Pakistan, Indus and
Haryana.

Statement 2: The Indus Valley Civilization was spread over an area of about 1.3
million square kilometers in India and Pakistan.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statements 1,2 are correct

D) All are correct

107. B p&Tan)b Fa Hmisefleo Ffluneremss Csih@s (H):

so. M) 1 AbgiGevefl praflesd ureiujerer SLhiseT @enms, un&Hlerogmest, Hibg), anflwreorr.
sabm 2 HAbsHGeuefl preflan ShSwreilepbd, unSlevogrefiend &wmi 1.3 WleoeSlwesr &gIr
EGoomBL_Lif urell SHiHS G

A) saHmy 101" ([Hib &

B) g imy 2 1" (b &ifl

C) sambmi12wL_[Hib &
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D) siemeor s g &l

108. Choose the correct one of the following principles:
1. They are derived from the Constitution of Ireland.

2. These are merely instructions to the Government.

3. District courts can be controlled.

4. It paves the way for the protection of human rights.
A) 1,2 is correct

B) 2,3 only correct

C) 1,2,4 are correct

D) All are correct

108. &1 &HoTL_ b MIeT Arsr CIBMHI(Wemm 2 missIb Gsr_un(hiseflc Fflunerems s CsibHOS (H:
1. S6meu Siwiieor b gl b _1g 6T Sir&lweoemotiNeShHg @UDUILL L 6me6.

2. 606U S&SHE Goumid SiMleymisscosEer @G h.

3.reul’ L BT pihisemer s (HUuhSS (WPlgwb.

4. @05 ootls 2_flemscmer UNgsTEHS QLD UGBS

A)12wL_{Hib &f

B) 23w Hid &

O 124 wi_Hid &

D) siemeor s g &l

109. Choose the wrong statement about fundamental rights:
1. They are derived from the Constitution of the United States.
2. Even the government cannot abridge or abrogate this right.
3. They cannot be enforced by the Act of the Court.

A) Only 1 is wrong

B) Only 2 is wrong

C) Only 3 is wrong

D) All are wrong

109. SigtiueoL 2_flemwser ubH v sa HmIs6Tled HseupreTemns s GO (H):
1. Somor S0Wwiflés &S Br(Hsaflesr Sir&lueoemwiifeSI(hibg GuHDm6!.
2. SENMBhISES ST Fao L Shs 2 flemwemw & ((HéeGeur, Hé&sGeur (Wpigwingi.
3. 8aubheom BSIo6sTD &L S5m0 GFWeOUHSS (WLg WM.

A) 1oL [Hib seumy

B) 2w [Hib s6umy

C) 3w (Hib Heumy

D) Siemeoré 810 Heumy
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110. Which committee recommended constitutional amendment in 19767
A) Sardar Swaran Singh Committee

B) Sarkaria Committee

C) Rajamannar Committee

D) Venkatachalaiah Committee

110.1976 ,1b ), 6001 () SirFlweoemotiy &L 51155 5D @& uflbgieons s sl _Lg. 618)?
A) sisni stoeuredr A &I _1q.

B) sisasmflur sl _1q

C) rmepw6dreormit SO _1q.

D) QeuusL_r&emeowrr &bl _Lg.

111. Choose the correct crop cultivated by the Harappans:
1. wheat

2. Barley

3. Different types of millets

A) 1 is correct

B) 2 only correct

C) 1,2 is correct

D) All are correct

M. amriur wéser Geverrmesor smouiled LLIFIL_L vulliiserfled Fflwneorems s C&iib@s (H):
1. @snglomw

2. umiiedl

3. U606518 &)6T60T 626N EBGT

A) 1oL Hid &

B) 2w Hib &fl

O 120 _Hiod &

D) siemeor s g &l

112. Choose the correct cattle reared by the Harappans:
1. Goats

2. Cows

3. Dogs

A) 1 is correct

B) 2 only correct

C) 1,2 is correct

D) All are correct

2. DIUUN & &ET GU6TTSHS &bl _&eifled Fflwnerems s C&ihOs (H:
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1. Sy (H&soiT

2. om(Hl&eir

3. MG 6IT

A) 1o [Hid &)
B)2wr”_{Hio &ifl
C)12w01”_[Hib &
D) siemeor s g &l

113. Choose the correct statement from the following statements:

Statement 1: The system of cultivation adopted by the Harappans was double
cultivation.

Statement 2: The municipal body is supposed to control the planning of towns.
A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statements 1,2 are correct

D) All are correct

13. B pasrab so Hnisatleo sflurerenss Gsiih0\s(H:

g HM 1 ADTUUN & &ET HeoL Ul 65 FTEGHULY (P OD ST 6oL FNGULY G LD.

o.M 2: haNhsfleor SI° L Ol _emed &I (HUuhlsS] SBLusTs &IHSUIL[HICE HSTTL & Siemoliy
BB

A) se.mHmi 1w (Hid &l

B) s imy 2 1" (b &ifl

C) sabmi12wL_[Hibd &

D) siemeors g1 &l

114. Choose the incorrect statement from the following statements:

Statement 1: Article 51A of the Constitution emphasizes the preservation and
promotion of noble objectives which inspired the freedom struggle.

Statement 2: Article S1A which enforces a list of Fundamental Duties.

A) Only statement 1 is false

B) Only statement 2 is false

C) Both statements 1 and 2 are false

D) None of these

4. B p&Tab o Hmisatled HemneTemns s Coibo\s[H:
sadm 1 &SHSITU Curm_ L 55lh@ gneor(HiGsmeons Sicowbhs 2 wiflw Grrésshisemer Gumml
6U6ITIT & 860 6T6OTUmS GuedlymISSID &L USIfley 516r.

go.HM) 2: Dl UUemL HLemws&alfled UL Lg wemeo euedliymus &b &1L 0llfley 516r.
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A) se.Hm) 101" (HIb Hevmy
B) e imy 2 1" (Hid sy
O sabmi 1, 2 Suetor(Hid Heum)
D) 8euhiHled ergeib Seoemeo

115. Statement 1: Fundamental Duties of the Constitution of India was added
by the influence of the Constitution of the former Soviet Union.

Statement 2: The Justice Party was the party that recommended setting up of
the Sardar Swaran Singh Committee in 1976 to look into the Fundamental
Duties.

A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct

D) Both statements 1 and 2 are false

15. sabm 1 SHSW Sirflweoemnottled DigUiueHL &L cOWE&6T eTedTucl (Wedteormer BGamedug
up, eoflwedt BT (h T FlwcoempUISleST 5iTdh e S HTe0 Ga i besIUL_L §).

saHm 2: 1976 PIb ,60or(h FASMT GOEITGOT Sy sl _19 6w DIOWGH G g UUGDL. &HL_6DIDEH6IT
GGG pumw uflibgieor @FLs &8 B &8 @ b.

A) s Hmy 181, e Hmy) 2 Houmy

B) ge.ihmy 1 H6um), e Hmy 2 &ifl

C) saimi 12 SretorHid &ifl

D) se.ibm 12 Sresor (b seumy

116. To which region does the reference to Melukha in the cuneiform script refer
to the trade between Mesopotamia and the Harappans?

A) Mohenjodaro

B) Sindh

C) Harappan

D) None of these

116. @ FUGLMblwuTeihHEGDL anriuisEhésEh Sl G Smbhs aafllss CSILfemnu &MI&HE D
Sy eoflumith 615 GIB &6 HTeTOTIL[HID GILDEYISET 6T65TM @ ML TUILEGSlem & MIIUSTEID?

A) QurenehEsn@rm

B) Sibay

C) emotiur

D) 8oubiHled ergieybleoemeo

117. Choose the wrong one from the following statements:
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Statement 1: A large breed of cow called copper in Harappa.
Statement 2: The largest figure seen on the Indus seals is an elephant.
A) Only statement 1 is false

B) Only statement 2 is false

C) Both statements 1 and 2 are false

D) None of these

17. & p&sTab sa Hnisfled Hemreremssd Coib0s(H):

sor H M) 1 emIUIUTESled GI&FUL 6T65T M) Sie&&IU(HID UL QIEms 6TEoID ([
sa.hm) 2: HibgHIOeefl (P Slemrsafleo sremrtuhio GuFlu 2_(HeUD WiTeneoT.
A) se.Hm) 101" (HIb Hevmy

B) saihmi 2 1™ (Hib Heumy

C) saimi1, 2 Sredor(Hitd Heumy

D) 8eubHled ergueyib Seoemeo

118. Match the following
1. Tamil -i. 2004

2. Sanskrit - I1.2008

3. Telugu - I11.2013

4. Malayalam - iv.2005
A) 1-iii, 2-i, 3-iv, 4-ii

B) 1-iv 2-iii, 3-ii, 4-i

C) 1-i, 2-iv, 3-ii, 4-iii

D) 1-ii, 2-i, 3-iv, 4-iii

18. OUN (15,5 8)15:

1. HWOID 1.2004

2. 5woeSI(HSD -ii.2008
3. O5nhE -iii2013
4.106®HEOWIT6TLD -1v.2005
A)1iii, 24, 341v, 44i

B)1iv 2iii, 341, 41

C)14, 2-1v, 341, 4-iii

D)1ii, 24, 34v, 4-ii

119. What does Article S1A enforce as the duties of every citizen of India?

1. To develop scientific theory, humanism, research temper and reform.

2. Renounce violence and protect public property.

3. To work towards some of all activities, individual and collective, for the steady,
high effort and achievement of the nation.
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A) 1,2 is correct
B) 1,3 only correct
C) 1 is correct

D) All are correct

19, IO (H SHSI &L9 &I HLcm&s6TTE 61856meor &1L lfley 5161 oueShiymis s1Smg)?

1. DidleMNwedo Gam_um(h), 6ol s Gmwib, i, rmiié & weoTIumedT L WH MID EFH(HSHSD B EweHemn
GUOITI & & 60.

2. QU6 (p MW &ML () CUT S O&TS 51886 UTISIT S S 60.

3. pefliul_ L wHmibd sal’ () GFweUN(H&T eTer Dcmendg OFweoun(hsaflepd Fleveubhemm
Gpré s @sweoul(H), 8585 Sl6 Hlemevwmeor, 2 wiihs (WPWHS bHMID &FTEHHCOTEHENE 2D 8 60.
A)12wL_{Hib &f

B)13wi”(Hid &f

O) 1oL Hid &

D) siemeor s g &l

120. Under which Article of the' Constitution can the President declare
emergency in case of threat to the security of India?

A) Article 360

B) Article 361

C) Article 356

D) Article 352

120. ShSwnelledr ungBTUGNDHE SFHFDSH0 GHUL LT GIRWIKH ool 6lhs
Sirflwevemtiys &1L UGiflefNesr S Seusr Hlemoosmi Simlefilsaseomb?

A) s L0G9fley 360

B) &1L 0Gfley) 361

C) s L0Gfley 356

D) &L 09fley 352

121. What is the law that notified the Central Government to continue the use
of English along with Hindi even after 15 years for all official purposes and for
communication in Parliament?

A) 1960

B) 1969

C) 1963

D) 1967
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121. oflbSuyL st piuSlood WSS SITEHE NHOTHG WIS GBI 8MhIS OIH&HSTH|D
BILIEHWLETD &(H5%H uflorboéShanson 15 waTHleEhsGU UIDEGD sal DiH6dT
UWeSTUML 6oL @&ML_Teormb 6Tt M iMleNSg &L b 61817

A)1960

B)1969

C)1963

D)1967

122. Which of the provisions of the constitutional amendment are correct?

1. It cannot be amended by a simple absolute majority of Parliament.

2. To be amended by a special absolute majority of Parliament.

3. It can be amended by obtaining the approval of more than half of the State
Legislatures with an absolute majority of Parliament.

A) 1,2 is correct

B) 2,3 only correct

C) 1 is correct

D) All are correct

122. S Slweo Seowiy &L G (15555561 aucmesafled 61emen Fifl?

1. IHTL_MOBLOGST DS SI60T FMSMTeor D1MISI GUHDUTEST 6mID eLpodld Sl(1HSSUIUL (LG WM ).

2. BILM BT ST iy S1miS0 GUEBLLUTEST DL eLpoold S(HSSUIL(HIS60.

3. BILmEBLSTDSSleT foiy Ml GuapburesTemwL T urlé@n Guohul L wrbleo
&L oSTbis6fledT 6pUiLs6m60 GIUMIS 60 eypoold Sl(15SSUIL([HS 6.

A) 12 Hib &

B) 23w Hid &

O) 1oL @Hib &

D) siemeor s g &l

123. Under whose chairmanship did the Government of India set up a National
Settlement Commission for Constitutional Implementation in 2000 to study the
functioning of the Constitution?

A) Sachchidananda Sinha

B) Krishnamachari

C) Poonchi

D) Venkatachalaiah

123, SIr&lweo Seoioliy G&wedun () @&MlS & ey G&w WITH §65606mLull6d 2000 b <, 680TLg. 60
ShHS s Ip SiwrersSlesr ulg DrFlweosmwiy &L G&weoun g herer GsH S

b 60I600TLID 69 60T 6D DD E B G)1?
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A) 55 8gncorihs AetTamm
B) Sigperg sorongamil
O yepé

D) @eurtusL_r&eoinum

124. Choose the wrong in the years in which the national emergency has been
declared:

1. 1962

2. 1967

3.1971

4. 1975

A) Only 1 is wrong

B) Only 2 is wrong

C) Only 3 is wrong

D) Only 4 is wrong

124. 858w SicusT Hlemeo SiMleféastur L a1 (Hsafleo Haummeremss Goin0s ([H:
1.1962

2.1967

3.1971

4.1975

A) 1oL [Hib seumy

B) 2w [Hib s6umy

C) 3w (Hib Heumy

D)4 w1” Hib seuny

125. Statement 1: Section 51 introduced fundamental duties in 2002.
Statement 2: Under this section, all Indian citizens or parents shall provide an
opportunity to all their children in the age group of 6-14 years.

A) Statement 1 is true and statement 2 is false

B) Statement 1 is false and statement 2 is true

C) Both statements 1 and 2 are correct

D) Both statements 1 and 2 are false

125. s HM) 1 UGS 51 a6t &1L Glifley 200260 Siiq IUEHL L6018 M6 SIDI(P&UIUHIS SIS

sa Hm 2: SHsU GIflellesT B Diemerd g SiHSIU GLe &&6T Dicdevd @UHGDMi&6T 6-14 euwgieTer
SBIGOIT &LD1HENSEHET HEMEOTAI(TH & LD &6v6sl GIU(HLD eumiitiy eTeor arbuhlSS) ST Geuesor (Hib.

A) se Hmy 181, e Hmy 2 Heumy

B) ser.bmy 1H6umy, e Hmy 2 &ifl
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C) sobm) 12 Sresor(Hid &
D) s bmy 12 Suetor(Hid Heumy

126. The value of (14) %(7) 2 x 2 /7x4=?
A) 98

B) 35

C) 350

D) None of these

126. (14) 2(7) 2 x 2 [/ Tx4=65r wHOY?

A) 98

B) 35

C) 350

D) Seubleo ergieybleoemen

127. When 60 - [30 -{35 -(15-%) }] = 60, then * is equal to
A) -19

B) 35

C) 20

D) -29

127. 60 - [30 -{35 -(15-%) }] = 60 ereoflev, * er6HE@F Fwb

A) -19

B) 35

C) 20

D) -29

128. What approximate value should come in place of the question mark?
159% of 6531.8 + 5.5 x 1015.2 =? + 5964.9

A) 10,000

B) 10,900

C) 11,000

D) 10,600

128. Bsorafla@EMls@E usleons creoreor @gmumunet WSl eur Geuesor (Hib ?

6531.8 & 159% + 5.5 x 1015.2 =? + 5964.9
A) 10,000
B) 10,900
C) 11,000
D) 10,600

129. What should replace the question mark (?) in the following equation?
6 (%) of 1705 +(%) of 1628 + ?=15000

A) 2467

B) 3867
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C) 2867
D) 3527

129. Qiesreupid &Fwesrum” 1960 Baeiredd@mlomw (P) wrbhmieng) erg?

1705 @eir6 (%) +1628 @eir (%) + P=15000
A) 2467
B) 3867
C) 2867
D) 3527

130. A 100-gm packet of grains costs Rs. 7.55, what will be the cost price of 2('2)
kg packet?

A) Rs. 188.10

B) Rs. 186.75

C) Rs. 187.85

D) Rs. 188.75

130. 100 &gmdb uns@s” sreflwsdler eflemeo ep.7.55 ereofleo, 2 (1/2) &Geor

un&0\&L_1q. 65T 65160760 6T60T 60T P
A) Rs. 188.10
B) Rs. 186.75
C) Rs. 187.85
D) Rs. 188.75

131. A boy was asked to multiply a eertain number by 25. He multiplied it by 52
and got his answer more than the correct one by 324.The number to be
multiplied was

A) 12

B) 15

C) 25

D) 32

131. @@ Hneuefl b @@ @GOIICI_L ereorememr 25 o GUEHSGbUY Bl slul L g).
S Dems OS2 oo CupsS), Fflwrer efleoLeow Sl 324 oo Siflswnst GuUHODNI.

@upss Geuesorig I 6T6soT
A) 12
B) 15
C) 25
D) 32

132. Two-third of Ria's money is equal to one-fifth of Shoba's money. What is the
ratio between their shares of money?

A) 10: 3

B) 3: 8

C)3:1

D) 3: 10
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132. flwrefesr usmrsSleo eoormleo Srevor(h) U@ Goagrurelledr usTsSlco eHSHled G(MH

UGS&G Fwob. Jauisefler LTl UGS EHEE oL ulleoreor NSIFD 616dTeor P
A) 10: 3

B) 3: 8

C)3:1

D) 3: 10

133. In a garden, there are 10 rows, and 12 columns of mango trees. The distance
between two trees is 2 meters and, a distance of 1 meter is left from all sides of
the boundary of the garden. What is the length of the garden?

A) 20 m

B) 22 m

C)24 m

D) 26 m

133. @ GsmLgsleo, 10 cuflomsser wHmid 12 euflensseflco wn wrhGeT 2 eirercor.
Suosor(h) wIhiIGEHEE Sl Bw 2 orter HMIb 2 B LT whHmib, Cam’ L §Sler 6160cmeoudlesr
ST gl USsRIsTIESI(HHEHD 1 B Li gmmb el tupHi&Slmg. Cam L sl Herb eresreor?
A) 20 B

B) 22 8

C) 24 &

D) 26 B

134. 12 1/2*33/5 / (1 4/5)
A) 45

B) 81

C) 405

D) 25

134. 12 1/2*33/5 / (1 4/5)
A) 45

B) 81

C) 405

D) 25

135. Simplify
626x2912+8138
A) 285

B) 224

C) 364

D) 310

135. ereflemwiiupésis
626x2912+8138
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A) 285
B) 224
C) 364
D) 310

136. Find the value of 22x(63+7) +6-{7x5+4-(3- 5) +2L.

A) -7

B) 7

C) -9

D) 11

136. 22%(63+7) +6-{7x5+4-(3- 5) +2} Sobr wHUcwuds SHreors.
A) -7

B) 7

C) -9

D) 11

137. Which of the following number is largest among all?
0.7, 0.7, 0.07, 0.07

A) 0.07

B) 0. 07

C) 0.7

D) 0.7

137. 8pésaor_eubmier Wblast@uflws erg)?
0.7, 0.7, 0.07, 0.07

A) 0.07

B) 0. 07

C) 0.7

D) 0.7

138. What is the value of 12(%2) +12(%) +12(%) ?
A) 36

B) 37

C) 39

D) 38

138. 12(V%) +12(%4) +12(%) Seir wdliy crcsroor?

A) 36

B) 37

C) 39

D) 38

139.What is the square root of (8 + 2V15) ?
A) V5+ V3

B) 2V2+2V6

C) 25+ 243
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D) V2 + V6

139. (8 + 2V15) b cuidsseypootd 6rcdreor?
A) 5+ 3

B) 2V2+2V6

C) 25+ 243

D) V2 + V6

140. The value of 1.6 + 1.6 of 1.6 + 0.6 of 1.4 + 0.5 -0.001 x 1.5 + 0.075 lies
between:

A) 2.6 and 2.8

B) 2 and 2.2

C) 2.4 and 2.6

D) 2 and 2.4

140. 1.6 861 1.6+ 1.6 + 0.6 &cor 1.4 +0.5-0.001 x 1.5+ 0.075 S6tr iy SowL_Gw
2_eiTormsg)):

A) 2.6 vHmd 2.8

B) 2 wipmib 2.2

C) 2.4 whmd 2.6

D) 2 whmd 2.4

141. What will come in the place of question mark (?) in the following question?
? = 3/(243)2

A)3

B) 7

C)6

D)9

141. Qesreuapd BsereMulleo BasoTeNé@ M (P) SLSSHleo eredreor au(Hb?

? = 3/(243) 2
A) 3
B) 7
C) 6
D)9

142. On simplification square root fully
v ((0.65) 2 2 - (0.16) ~ 2)

(0.65) 2 — (0.16) 2 reduces to

A) 0.63

B) 0.65

C) 0.54

D) 0.53

142. aissepeodens (W(Reowwns sreflemwiubhisgibGurg)
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vV ((0.65) A 2 - (0.16) A 2)
A) 0.63
B) 0.65
C) 0.54
D) 0.53

143. The square root of ((10 + V25) (12 - V49) ) is:
A) 43

B) 33

C) 5V3

D) 2V3

143. (10 + V25) (12 - V49) ) ebr euiidsssepootd:

A) 43

B) 33

C) 5V3

D) 23

144. Find the value of x:
23 * 34* 1080+15 = 6x
A) 4

B) 6

C) 8

D) 2

144. X Setr HIBUS HTEBOTE:
23 * 3% 1080+15 = 6%
A) 4

B) 6

C) 8

D) 2

145. Solve:

(81.84 +118.16) + Spower 3=1.2x2+7?
A) 0.8

B) -0.8

C) 0.6

D) -0.6

145. gisseb: (81.84 +118.16) + 53=1.2x2 +?
A) 0.8

B) -0.8

C) 0.6

D) -0.6

146. Simplify: ¥ (11 - 2V (30))
A) V6+ 5
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B) 6
C) V6-V5

D) 6-5

146. ereflemwiu@asoyn: \ (11 - 2V (30) )
A) V6+V5

B) 6

C) V6-V5

D) 6-5

147. If (3 + 2V5) 2 = 29 + KV5, then what is the value of K?
A) 12

B) 6

C) 29

D) 39

147. (3 + 2V5) 2 = 29 + KV5 eresflév, K @it Sl oredreor?

A) 12

B) 6

C) 29

D) 39

148. [125 x 125 x 20] + 25 = ? 50
A) 100
B) 120
C) 150
D) 250
148. [125 x 125 x 20] + 25 = ? 50
A) 100
B) 120
C) 150
D) 250

149. -224 + (-314) x (- 9) = ?
A) 547

B) -547

C) 2602

D) -2602

149. -224 + (-314) x (- 9) = ?
A) 547

B) -547

C) 2602

D) -2602

150.Solve the following simplification questions

? /64 = 150
A) 2500
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B) 1200

C) 1250

D) 1500

150.8iesreumid sreflemtiupssco eflerméasEnds@ uslovaflssanb
? /64 = 150

A) 2500

B) 1200

C) 1250

D) 1500
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